
 

 

 

           

             

PRUEBA CERTACLES INGLÉS B2 

MODELO DE TAREA DE COMPRENSIÓN AUDITIVA 

 

You are going to listen to Robert Parfett, talking about his first book The Not So Wise Owl. Match 

options 1-7 to options A-I according to what is said in the recording. There are two options from A to I 

that you do not need to use. Write your answers in the box below. There is an example (0) at the 

beginning, which has been done for you.  

 

 

 Write your answers here: 

0 1 2 3 4 5 6 7 

Y        

 

 

 

 

0. Robert started his writing career effectively by… 

1. His children’s Story Net gave Robert the opportunity of …  

2. In relation to publishing, Robert was happy about… 

3. Robert found it surprising the idea of… 

4. One of the problems he had was…  

5. The Not So Wise Owl is about an owl who starts… 

6. Robert’s family are helping him by… 

7. Now Robert’s hopes are … 

Y. sending a children story to a 

webpage. 

A) personally distributing his work. 

B) turning one of the stories into a 

book.  

C) selling more books.  

D) sharing a section on the webpage 

with other writers. 

E) dealing with a lot of different 

elements. 

F) buying a lot of copies of the book   

G) getting an acceptable price for the  

illustrations.  

H) changing the dimensions of the 

book.  

I) giving useless advice.  



 

 

 

 

Key answer: 

1B            2G 3F 4H 5I 6A 7C 

 

 

 


